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Read the following instructions carefully before you begin to attempt the questions.

INSTRUCTIONS TO CANDIDATE

(1)  This booklet contains 100 Questions.

CBT I (Mathematics, Mental Ability, General Science & General Awareness) (100 Questions)

(2) All the questions are compulsory and carry equal marks.

(3) Before you start to attempt the questions, you must explore this booklet and ensure that it contains all the pages
and find that no page is missing or replaced. If you find any flaw in this booklet, you must get it replaced
immediately.

(4) Each question carries negative marking also as 1/3 mark will be deducted for each wrong answer.

(5) Answer must be shown by completely blackening the corresponding circles on the Answer-Sheet against the
relevant question number by Black/Blue ball pen only.

(6) Failure to comply with any of the above Instructions will make a candidate liable to such action/penalty as may be
deemed fit.

(7) Answer the questions as quickly and as carefully as you can. Some questions may be difficult and others easy. Do
not spend too much time on any question.

(8) Mobile phones and wireless communication device are completely banned in the examination halls/rooms.
Candidates are advised not to keep mobile phones/any other wireless communication devices with them even
switching it off, in their own interest. Failing to comply with this provision will be considered as using unfair means
in the examination and action will be taken against them including cancellation of their candidature.

(9) No rough work is to be done on the Answer-Sheet.

(10) No candidate can leave the examination hall before completion of the exam.

NAME OF CANDIDATE:.......orrcssessssssssssnnens Maximum Marks : 100
DATE ...coereeeccrenees CENTRE CODE .................. Total Questions 2 100
[0 ] I R o Y Time Allowed : 90 Min.
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In a row of girls, Rita is 12t from the start and 19t
from the end. In another row of girls Seema is 14t
from the start and 20 from the end. How many girls
are there in both the rows together?

(A) 72 (B) 63

(C) 61 (D) 65

How much funding, in crores of rupees, has the Union
Cabinet sanctioned for the Digital Agriculture

Mission?
(A) 1214 crores (B) 3348 crores
(C) 4200 crores (D) 2,817 crores

Who is the first Indian female athlete to achieve two
medals in track and field events at the Paralympics or
Olympics?

(A) Sushmita Singha
(C) Sangeeta Sharma

(B) Preeti Pal
(D) Nisha Sharma

Direction 4 to 6: Study the following pie chart carefully and

answer the below question based on it.

The following pie chart shows the distribution of
expenditure of a company (in %). The total
expenditure of the company is ¥ 136000.

Raw
material
17%

Rent
9%

Furniture
14%

What is the total expenditure (in %) incurred on
Furniture and Others by the company?

(A) 45200 (B) 54400

(C) 46240 (D) 42160

What will be the ratio of the expenditure incurred on
Salary to the expenditure incurred on Rent?

(A)10:9 (B)31:5

(C)40:9 (D) 5:31

What is the difference (in degrees) in the central
angles formed by the total expenditure incurred on
Furniture and Rent and expenditure incurred on

others?
(A) 10.8 (B) 11.2
(C) 39.6 (D) 27.4

Who is the author of “Death Under the Deodars™?
(A) Shankha Ghosh (B) Ruskin Bond
(C) Medha Patekar (D) Salman Rushdie

10.

1.

Karakattam is folk dance of which state?
(A) West Bengal (B) Kerala
(C) Tamil Nadu (D) Nagaland

Kisan Diwas is observed on which date?
(A) 15 October (B) 5 November
(C) 17 December (D) 23 December

Which of the following is correct combination of
mathematical signs to replace * signs and to equal the
given equation 16 * 6 * 4 * 247

(A) +=x (B) x =+

(C)==++ (D) x +=

Which of the following is the Trophy/Cups associated
with the game of Hockey?
(A) Derby

(C) Merdeka

(B) Agha Khan Cup
(D) Vizzy Trophy

Direction 12 and 13: Each of the six friends A, B, C, D, E and

12.

13.

14.

15.

16.

17.

18.

F scored different marks in an examination. C scored
more than only A and E. D scored less than only B. E
did not score the least. The one who scored the third
highest mark scored 81 marks. E scored 62 marks.

The person who scored the maximum is 13 marks
more than F’'s marks. Which of the following can be
D’s score?

(A) 94 (B) 60

(C) 89 (D) 81

Which of the following could possibly be C’s score?

(A) 70 (B) 94

(C) 86 (D) 61

fA:B:C=2:3:4,then AEE is equal to
B CA

(A)4:9:16 (B)8:9:12

(C)8:9:16 (D)8:9:24

Who amongst the following Sultans built the fifth
storey of QutubMinar?

(A) Qutubuddin Aibak (B) lltutmish
(C) Firoj Shah Tughlaq (D) Sikandar Lodi
If '+ means ‘—, ‘=" means ‘x’, ‘x’ means +' and ‘+

means ‘+’, then what is the value of 20 x 60 + 40 — 20
+10="7?

(A) 80 (B) 60

(C)o (D) 40

Which of the following successive discounts is better
to a customer?

1. 20%, 15%. 10%
(A) (1) is better
(B) (Il) is better
(C) (1) and (Il) both are same
(D) None of these

1. 25%, 12%, 8%

Three sides of a triangle are 5 cm, 9 cm and x cm.
What will be the maximum integral value of x?

(A) 2 (B)3

(C)4 (D)6
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When water is heated from 0°C to 10°C its volume

(A) Increases

(B) Decreases

(C) Does not change

(D) First decreases and then increases

If the parallel sides of a trapezium are 8 cm and 4 cm.
M and N are mid points of the diagonals of the
trapezium, what is the length of MN?

(A) 12 cm (B) 6 cm.

(C)1cm (D) 2cm

Vijay remembers that his brother Ram’s birthday is
after 20 of August but before 28 of August, while Rita
remembers that Ram’s birthday is before 22of August
but after 12 of August. On which date does Ram'’s
birthday fall?

(A) 20 August
(C) 22 August

(B) 21 August
(D) 19 August

A can do a work in 6 days and B can do the same
work in 5 days. The contract for the work is ¥ 220.
How much shall B get if both of them work together?
(A) X 150 (B) X 100

(C) 120 (D)X 180

The East Central Railway zone headquarters is
located at
(A) Patna
(C) Muzaffarpur

(B) Hajipur
(D) Katihar

The ratio between the present ages of Punit and
Suresh is 4 : 5. After 7 years, Punit's age will be 31
years. What was Suresh’s age four years ago?

(A) 24 years (B) 28 years

(C) 14 years (D) 26 years

If there were no atmosphere on the earth, the length
of the day will
(A) Decrease
(C) Remain the same

(B) Increase
(D) None of these

Direction 26 to 28: Select the related word/letter/number from

26.

27.

28.

29.

the given alternatives.

Up : Down :: Love : ?

(A) Bird (B) Attach
(C) Hate (D) Like
DEAD : WVZW : : FGCF : ?

(A) UTXU (B) TUUX
(C) UXTU (D) UUTX
12:288::11: 7

(A) 240 (B) 242
(C) 252 (D) 260

In the following question, based on the given
statement which of the following assumption(s) is/are
implicit.

Statements: Inculcate saving habit in your school
going child.

Assumptions: I. Saving habits is expected.

Il. Good habits should be inculcated from the
childhood.

30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

(A) If only | is implicit

(B) If only Il is implicit

(C) Both | and Il are implicit
(C) Neither | nor Il implicit

2 2
What is the value of (238+131) +(238-131)" ,

238x238+131x131
(A) 4 (B) 2
(€8 (D)9

Which one of the following is used in storage
batteries?
(A) Copper
(C) Tin

(B) Lead
(D) Zinc

Mandeep can row 12 km/hr in still water. It takes him
twice as long to row up as to row down the river, then
what is the speed of water current?

(A) 2 km/hr (B) 3 km/hr

(C) 4 km/hr (D) 6 km/hr

In the following question, based on the given
statement which of the following argument(s) is/are
strong.

Statement: “Should strikes in the field of education
be banned”?

Arguments: . Yes, it is against professional ethics.

Il. Yes, it affects the students adversely.

(A) If only I is strong

(B) If only Il is strong

(C) Both | and Il are strong

(D) Neither | nor Il is strong

What should come in place of question mark (?) in the
following question?

J2601+169 =8'2-7
(A) 10
(C)8

(B)9
(D)7

A bond formed by sharing of electrons between atoms
of the elements is called
(A) ionic bond

(C) co-ordinate bond

(B) covalent bond
(D) None of these

In a certain code language, ‘GUN’ is written as ‘513’
and ‘DOLE’ is written as ‘9274’. What is the code for
‘LODGE’ in that code language?

(A) 72954 (B) 72594

(C) 79524 (D) 75249

An acid is a substance which :
(A) donates a proton (B) accepts an electron
(C) give H* in water (D) All of these

In a certain code language, ‘COUNTY’ is written as
‘EMWLVW'. What is the code for ‘PARLIAMENT in
that code language?
(A) TRYJKYOCPR
(C) RYTJKYCOPR

(B) RYJTKYOPCR
(D) RYTJKYOCPR

What is the International Date Line?
(A) It is the equator

(B) It is the 0° longitude

(C) It is the 90° east longitude

(D) It is the 180° longitude

A
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A man bought 20 cows in ¥ 200000. If the average
cost of 12 cows is ¥ 12500, what will be the average
cost of remaining cows?

(A) ¥ 6800 (B) 6250

(C)X 6750 (D) ¥ 7250

In a healthy person volume of blood (approximately)
is :

(A) 3 litre (B) 4 litre

(C) 5 litre (D) 6 litre

The population of a country is 10 crore and it is the
possibility that the population will become 13.31 crore
in next 3 years. What will be the annual rate percent

on growth?
(A) 10 (B) 11
(C) 12 (D)9

In modern periodic table, the total number of groups is

(A) 15
(C) 17

(B) 16
(D) 18

Who was the founder of Nanda dynasty?
(A) Bimbisara (B) Mahapadmananda
(C) Ajatasatru (D) Dhanananda

A train passes a standing man in 6 s and a 210 m
long platform is 16 s. What is the speed of the train?

(A) 15 m/s (B) 13 m/s
(C)21 m/s (D) 24 m/s
Pepsin is a/an

(A) Hormone (B) Enzyme
(C) Vitamin (D) Mineral

A candidate scores 25% and fails by 30 marks, while
another candidate who scores 50% marks, get 20
marks more than the minimum required marks to pass
the examination. What is the maximum marks for the
examination?
(A) 250

(C) 300

(B) 200
(D) 400

Milk is an example of
(A) gel
(C) suspension

(B) emulsion
(D) true solution

Directions 49 to 51: A series is given with one term missing.

49.

50.

51.

Select the correct alternative from the given ones that
will complete the series.

Z,X,?2,N,F

AT (B)R
(c)Q (D)O
0,9, 18, 27, 36, ?, 54

(A) 45 (B) 43
(C) 42 (D) 44
BDF, KMO, TVX, ?

(A) CEG (B) UVW
(C) XYZ (D) ACE

Direction 52 and 53: A family consists of six members P, Q,

R, X, Y and Z. Q is the son of R but R is not the

52.

53.

54.

55.

56.
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mother of Q. P and R are married couple. Y is the
brother of R. X is the daughter of P. Z is brother of P.

How many female members are there in the family?

(A) One (B) Two
(C) Three (D) Four
Who is the brother-in-law of R?

(A) P (B)Y
(C)z (D) X

Basic unit of protein is

(A) Peptones (B).Peptides

(C) Amino acid (D) Amide
1- b
If §—+1 =§ and ﬁ = 5 , then what is the value of
X-y -
1+xy
2 2
a“-b a-b
(A) =— (B) =,
2 2
a‘-b 2ab
C D) ——
(C) S (D) 22 _p?

Mahavira Jaina breathed his last at
(A) Rajgir (B) Ranchi
(C) Pawapuiri (D) Samastipur

Direction 57 and 58: In the following question, based on the

57.

58.

given statement which of the following conclusion(s)
is/are follow.

Give answer:

(A) If only | follows

(B) If only Il follows

(C) If both | and Il follow

(D) If neither | nor Il follows

Statements: I. Some dogs are rats.

Il. All rats are trees.

lll. Some trees are not dogs.
Conclusions: I. Some trees are dogs.
Il. All dogs are trees.

lll. All rats are dogs.

IV. No trees is dog.

Statements: I. All buildings are mirrors.

Il. Some mirrors are pens.

lll. No pen is paper

Conclusions: |. Some papers are buildings.
Il. Some pens are buildings.

lll. Some papers are mirrors.

Direction 59 to 61: Select the odd word/letter from given

59.

60.

alternatives.

(A) Lotus (B) Sunflower
(C) Rose (D) Jasmine
(A) DCFG (B) FEHI

(C) HGIK (D) JILM

(A) Pentagon (B) Circle

(C) Rhombus (D) Diagonal
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Which Indian athlete won the gold medal in the SL3 1.

category of the individual event at the Paralympic
badminton?

(A) Nitesh Kumar
(C) Rajesh Sharma

(B) Ravi Kumar
(D) Arvind Singh

The given diagram represents those people who play 72.

hockey, cricket and badminton. Which letter
represents those people who play all the three game?

Badminton /
S 'ﬁ .
73.
Cricket /
fFae 74.
(A)T+U (B)Q+R
(C)P+Q+R (D) S
Chemical name of vitamin A is
(A) Thiamine (B) Retinol
(C) Ascorbic acid (D) Nicotinamide
The ratio of two numbers is 3 : 4 and their Highest
Common Factor is 4. What will be their Least
Common Multiple?
(A) 12 (B) 16
(C) 24 (D) 48
Who started the Saka Era and when? 75.
(A) Kadphises in 58 BC
(B) Vikramaditya in 58 BC
(C) Rudradaman | in 78 AD
(D) Kanishka in 78 AD
Who presides over the National Development Council
of India?
(A) Deputy Chairman of Planning Commission of 76.
India
(B) Prime Minister of India
(C) Finance Minister of India
(D) Vice President of India
A can do a piece of work in 10 days while B can do it
in 6 days. B worked at it for 4 days. How long will A
take to finish the remaining work?
(A) 3g days (B) 3g days
5 3
1 5
(C) 3— days (D) 3= days
3 74
s
Who was the Mughal Emperor to have lifted the
Jaziya tax on Hindus?
(A) Babur (B) Akbar
(C) Jahangir (D) Shajahan -

The Selling Price of an article after two successive
discounts of 10% and 5% on marked price is ¥ 171.
What is the marked price?
(A) X 200
(C) % 240

(B) 220
(D) 250

Railway NTPC Pre ‘

In a certain code language ‘CROWNED’ is written as
‘PSDVEFO’. What is the code for ‘STREAMS’ in that
code language?
(A) SUTDBNT
(C) QSRDTNB

(B) TUSDTNB
(D) SUTDTNB

Salaries of Raju and Sunil are in the ratio of 2 : 3. If
the salary of each is increased by % 4000, the new
ratio becomes 40 : 57. What is Sunil’s present salary?
(A) X 32000 (B) ¥ 48000
(C) X 38000 (D) ¥ 42000

Which one of the following offices is held during the
pleasure of the President of India?

(A) The Vice-President

(B) The Chief Justice of India

(C) The Governor of a State

(D) The Chairman of UPSC

Identify the diagram that best represents the
relationship among the classes given below?

Clothes, Saree, Dhoti
e (D

()0

The average age of a group of 30 boys is 12 years.
When 2 new boys joined them, the average increased

1
by 7 year. What is the average age (in years) of the
two new boys?

(A) 12
(C) 14

(B) 13
(D) 16

In the following question, based on the given
statement which of the following assumption(s) is/are
implicit.

Statements: The root cause of all social evils is love
for wealth.

Assumptions: |. Wealth gives power and makes
selfish.

Il. All those who love wealth are anti social.

(A) If only I is implicit

(B) If only Il is implicit

(C) Both | and Il are implicit

(D) Neither | nor Il implicit

a b
If B +— =2, then what is the value of a — b?
a

(A) 2
(€)o

(B) -1
(D) 1

Five boys A, B, C, D and E are sitting on a stair. E is
above A. D is under B. B is under A. D is between B
and C. Who is sit at the lowest stair?

(A) A (B)C

(C)E (D)B
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In the following question, based on the given
statement which of the following argument(s) is/are
strong.

Statement: “Do scientists believe in religion”?
Arguments: . Yes, because science as a profession
does not come in the way of faith.

Il. No, because religion and faith do not go together.
(A) If only | is strong

(B) If only Il is strong

(C) Both | and Il are strong

(D) Neither | nor Il is strong

1 of g of g of a number is 54. What is the number?

4
(A) 280 (B) 250
(C) 300 (D) 150

At which place of Bihar, Gandhiji started Satyagraha
Movement for the first time in India?

(A) Patna (B) Gaya

(C) Madhuban (D) Champaran

In what time a sum of ¥ 80,000 amounts to ¥ 92,610
at 10% per annum at compound interest, interest
being compounded semi annually?

(A) 1% years (B) 2 years

(C) 2% years (D) 3 years

If ‘flower’ is called ‘tree’, ‘tree’ is called ‘red’, ‘red’ is
called ‘gold’ and ‘gold’ is called ‘white’ then with which
of the following item, ‘jewellery’ is made?

(A) tree (B) red

(C) white (D) gold

If the area of a square inscribed in a circle is 162 sq.
cm, what is the diameter of the circle?

(A) 15 cm (B) 17 cm.

(C) 18 cm (D) 19 cm

Who has taken additional charge as chairman of
Indian Oil Corporation Ltd (IOCL) after Shrikant
Madhav Vaidya completed his tenure?

(A) Arun Kumar (B) Rajesh Kumar

(C) V. Satish Kumar (D) Anil Kumar

Who is the highest civil servant of the Union
Government?

(A) Attorney General
(C) Home Secretary
(D) Principal Secretary of the Prime Minister

(B) Cabinet Secretary

sin30° + cos 30° 9

cos30°-sin30°
(B)2-+3
(D) V3 -1

What is the value of

(A)2++3
(C)V3 +1

The product of two numbers is 192, and its sum is 28.
What is the smaller of these two numbers?

(A) 10 (B) 12

(C) 16 (D) 18

In India, the Prime Minister holds office as long as he
enjoys

90.

91.

92.

93.

94.

95.

97.

98.

99.

100.
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(A) Support of armed forces
(B) Confidence of Rajya Sabha
(C) Confidence of Lok Sabha
(D) Support of the people

The price of sugar is increased by 25%. If a family
wants to keep its expenses on sugar unaltered, then
how much the family will have to reduce the
consumption of sugar?
(A) 25%
(C) 20%

(B) 22%
(D) 21%

Which Article of the Constitution of India says, “No
child below the age of 14 years shall be employed to
work in any factory or mines or engaged in any other
hazardous employment”?

(A) Article 24 (B) Article 45
(C) Article 330 (D) Article 368
sin® cos0

What is the value of

1-cotd 1-tan®
(A) sino + cosf (B) sind — cosO

1
) R (D) (

sin® +cosH sin® —cosB)

As the economy develops the share of the tertiary
sector in the Gross Domestic Product

(A) Decreases

(B) Decreases then increases

(C) Increases

(D) Remain constant

The computer that process both analog and digital is
called

(A) Analog computer
(C) Digital computer

(B) Hybrid computer
(D) Mainframe computer

The term ‘Tee’ is connected with
(A) Polo (B) Golf
(C) Cricket (D) Football

Prithvi Shekhar is associated to which sports?
(A) Tennis (B) Cricket
(C) Boxing (D) Badminton

Which of the following countries have signed the
charter of the Colombo Security Conclave?

(A) India, Sri Lanka, Maldives, Mauritius

(B) India, Bangladesh, Nepal, Bhutan

(C) Sri Lanka, Maldives, Bangladesh, Thailand

(D) Pakistan, Sri Lanka, Maldives, Myanmar

The 2019 Nobel Prize in Physiology or Medicine had
been awarded for which discovery?

(A) Cellular Respiration  (B) Cancer Therapy

(C) Circadian Rhythm (D) Autophagy

Who has won the men’s singles title of the 2024
Tuanku Muhriz Trophy?
(A) Saurav Ghosal

(C) Vikram Malhotra

(B) Ramit Tandon
(D) Abhay Singh

Who is the author of the book “The Vault of Vishnu"?

(A) Amish Tripathi (B) Sunil Dalal
(C) Devdutt Pattanaik (D) Ashwin Sanghi
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